T12_5S04

/

ASLVHDOERZL LS.

By
g 50| - [30

503 [ X|mET BIc 6 FBBHEN.

_—
50] - [30

TTTTTT1T1
ERNRRARAAN
EENRNNENEE
EEEEREEEEE
EARRERRRAN
ERRNRENEEE
ERRNRRRRAN
EEERRRREAE

3 O[g, nEC

AlC3FxHDE.

@ [50] - [30
et ( x | @ \
I

NERRERNEN
NERRRENN

O<PB, 20EBBN.




T12_504

4 I
Ik [ZHTITFELIHEEZTFELLD,
) 50 — 30 \= |.20| (@ Biow!
X o
N - — OL\:Cv - J )
Gk [CHTIFEIHEEEFELLD,
o [40]—[20]= 2[50 10=C]
in., X ]-) :iji'."_v
LT OWLT
@50—20=| |@6o 5o=| |
., ]—> i ]—>
e e e e S
@70—5o=| |@30 1o=| |
LT 0T




T12_504

il [CHTITERHEEZELLS,

................. e e LS
@40—30=| I 30—20=| I
j' > j TR 4 >
................. e et
@20—20=| |@60—30=| I
...... <P Hle 0 P
LT UL\ T

.................
@60—10=| I 70—20=| I
e 1P k. 1
O\ T OL\T




T12_S04

il [CHTITERHEEZELLS,

o ' OL\CT )

................. S G
et P P
0L\ ) g




T12_504

] [CHTITFEIHEEZTELLD, \
30 |- [20]=(10] corrs
il [ZHTITERHEEEFLLS,
{40]-[30]=( | e[30]-[20]=
s[60]-[20]=( ] «[60]-[50)=[
s(20]—-[10]=[ | e[70]-[30]=
of70]-[10]=[ | e[60]-[20]=
o[70]—-[40]=( | o[50J-[40]=(
o[60]—[T0]=( ] «[60]-[40)=[
s[70]-[50]=( ] «[30)-[F0)=[
«60]—[To]=( ] «70]-[20]=(




